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PHYSICS 11

DETERMINING INSTANTANEOUS AND AVERAGE VELOCITY USING A GRAPH 2
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Determine the following:
Length of the time interval 44 = 19. € s e
Time interval when the object is at rest M4, man, be £=4.2 [ 7) 13,(#1. 5'}3
Average velocity for the first 3 seconds Moo = -% mle TR = 0.2.["“/!\2(/- 7
Average velocity for the entire time interval | %) - 55 =/ [ 7= 459 %/0-2 /s [2]
Instantaneous velocity for t=10 s /\FTM;L =2 p.50 s TRI
Instantaneous velocity for t=2 s ok « % = -0.25 /e [R] = 0. 27|/ LT
Instantaneous velocity for t= 20s Y. _—fg__;. mis[R] =11 ™8 T1]
Is the motion uniform or non-uniform? hon- wni4term
Change in displacement Al - d, -l
1
1y -

:)MCR:(




B:

Title: :D,Z( /9[91 &h/u,mol 7 _/Tmu_ gf?/o

™~

\ T Im
,]J!\“
K . | S—
X5 [ s
i -
(‘,
Q"_{f‘ ' ~~
z = N~ T
T —_ RN
Q O e S 0 N

N

N

<

N
N

N

i L t : 1 19
1Vt Lsl
Determine the following:
Length of the time interval At = 4% 8

Time interval when the object is at rest

Yl ak +=49 oudd hn he E=lus $]= 164

Average velocity for the first 6 seconds

"Nawe = =l [T 020 “isIN]

Average velocity for the entire time interval

Bren < 3y s TN= -0.3%fs [l

Instantaneous velocity fort=15s .

A3y = 2]5= D.p Mg LA

Instantaneous velocity fort=2 s

pind £ s *ls ITNT = 0.3% pis I]

Instantaneous velocity for t= 19s

[A M he 3¢ o

Is the motio'+ uniform or non-uniform?

“hon- udly Jorm

Change in displacement

Ad =47 - AT
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Determine the following:
Length of the time interval At = A1S

Time interval when the object is at rest g

. 4~ L7.8)9.2]5

Average velocity for the first 4 seconds

" fFaun = Yy mfs (NI 2OAT Yo La

Instantaneous velocity for t=2 s

Pk = Y2 ls [wi= 1075 TW]

Instantaneous velocity for t= 18s

a

(et = "'1S = -0 4o /s [ W)

Is the motion uniform or non-uniform?

hon- tnd 42 rm

Change in displacement

ad = 0{:’- di
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Average velocity for the entire time interval /ﬁax’ ¥ 91 N5 Twd < 0 Jut/s N, N
Instantaneous velocity for t=7 s ¢ Mok = = 27 -p.54 /e [n] = 0.5% [S[‘S

= 0.0"(s
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Determine the following: T
Length of the time interval AN < 3 - .
Time interval when the object is at rest N_{l} } _hﬂ‘u\k ad I'Z(“(l@ M;@g’)s_ e ,.z Fi
Average velocity for the first 4 seconds ﬂ)—:«e =3/ g_g;; i ;.-:./ r' /2 - ‘{; og 25"’/52'! L, %_;/ ;
Average velocity for the entire time interval /v;a,\,} S "3'7 Al 1S5 D‘;:]M m/-! [53 = 3
Instantaneous velocity for t=12 s £ Mrnzid = G5 "’/ZEEJ - o Q_C_‘ 1
Instantaneous velocity for t=9 s N/ /f ax s /»u_ . s { TN
Instantaneous velocity for t= 20s e “’:’/ wr VLT ET == 0.9970E)} = 7 /
Is the motion uniform or non-uniform? }1014_: /,tm;;fo“fm i
Change in displacement a0 = 0,//’ - p(‘
=0 -1f
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